s =
EEFENRBEED/VDATYTNRBARKR
ER18FE3A31HIRAE
= E I e =l 3R
BeEs SAEWH | REMH | BALE | men | sgwm
(&) (&) (%) _
$RaE/ NP 0 6 0.00] dtiEE ALIR
FLIRSE —E /N 0 8 0.00[ JtimE FLIR
DA F—)LItiEE SR 18 412 437 JtiEE FLIR
BLLOTO 3 179 1.68] dbiEE ALIR
TR/ NAM 1 22 455 JbiEE AL1R
— AN 1 21 476 JtiEE FLIR
£ A FUERSE N RS 0 6 0.00[ JtiEE AL1R
1t R 32 18 ) 0 66 0.00[ JtifEE AL1R
dbiEE R/ N\ 24 1,197 201 dbiEE FLIR
4 R K E 0 39 0.00[ JtiEE ALIR
IR/ N 0 21 0.00[ JtiEE ALIR
EREE/ N A 34 281 12.10] dtiEE B EE
KEEZ T —H) 0 9 0.00[ JtiEE EREE
2 ILER S/ N R 0 6 0.00[ JtiEE EREE
JBJESHER 34 105 32.38] duimE A}
B AV 8 154 5.19| dvigE A
RN 0 97 0.00] dt:fE&E A
DR 0 60 0.00| dtiEE HBJI|
2+ /N2 1 18 5.56] dtigE A}
=+ Al ENE H) 1 12 8.33| dJkiEiE I
TATDNAK 0 4 000 JkiEE A}
S5D/INAH) 2 11 18.18] dtiEE I
BHTA 35 68 5147 dtiEE AEJI
EHX AR 0 6 0.00| dtiEE I
BE/NAK 0 316 0.00] JtiEE E ]
& /Mg 1 91 1.10] dJeidE =/
HOENX 0 13 0.00] JtiEE =H
LANRE 3 100 3.00 dbiEiE Il %
EEIRVAC] 6 95 6.32| dtigE i | by
BERER 0 27 0.00[ JtiEE Il %
TR/ N\ R 14 113 12.39] dtiEE ks
dbiEERIE/ AR 0 47 0.00[ dbimE G
JtimEdt BN 8 96 8.33] dJtim&E it
HENAB 0 43 0.00| dtiEE it
HE B/ NRE 0 6 000 JbiEE it
ERAC) 0 10 0.00| dtiEE it
BN 3 31 0.68] dtimiE &
| dtEEEE T 197 3,796 5.19
B 2 180 111 =4t 55
J\ B 35 @ ER 0 139 000 Eijt =55
BhE /N R () 0 291 000 Eijt =55
+FHE L EHRER) 0 97 000 =it =5
EER/ N R (%) 0 127 000 =it =5
TR &R 0 49 000 FEit =555
FiE AR 0 231 000 FEit A E
AR 0 157 000 FEit A E
NHE PR A 0 310 000 it A E
WIZZ 7N R(BE) 21 196 10.71 ®i Lz
ERREER) 11 89 12.36] 4t 2
=L )I13EER) 0 3 0.00] =ik 2
5FERE ) 6 603 1.000 Edt EF
EFEGEHE ) 0 166 000 FEit =F
TEEE I/ N\ R (¥E) 0 2 000 FEit =F
BIE/ N R (3R) 0 6 000 =ik oES
BEFET/ R () 0 6 000 FEit EF




EFENRBEED/ARATIYTNRAEBEARR
FRL18EIA31HIRTE
b &= 3=
sxEs | Larn| RERH | SAME D ses |@wxs
WETRER 30 517 580 Eit =53
=38 (k) 6 500 1200 E4dt = I
= 3NE /N R (BR) 0 19 000 FEit =i
=R KGN (B) 0 34 000 it =
BRER/NR () 0 10 000 it =
WA E KN (BE) 0 23 000 FEit =
EXAE/NR () 0 40 000 it =
BERSALE/ N (B) 0 25 000 =it = I
Y 1(7 =iy AB AL (#R) 0 209 000 FEit =K
BEHAZST®D) 0 28 000 =it = I
TES T E ) 0 6 000 =it = I
FFE IR (3F) 0 7 000 it = I
BRINAVAT LB 0 12 000 FEit =ik
2EXE () 8 466 1.72] =it =ZE
FrE | (k) 4 202 198] =it BE
REFESEEE ) 0 190 000 it BE
(Bk) #3508 0 1 000 =it =ZE
EBRENA ) 0 9 000l i | EE
RmILE@BET 88 4,950 1.78

a3 E (7R) 2 442 0.45] JEFE{E# i
i 38 (B) 35 215 16.28] JbpE{E#E FTaE]
EESE () 0 2 0.00] JERE{S#S FTE]
=R EACE)) 0 48 0.00[ JLRE{SiH 8
B BIEE () 0 17 0.00] JEEE{S#S FTaE]
$BIREN/ AR () 0 32 0.00] JERE{S#S FTaE]
i@ (5R) 0 61 0.00] JbRE{S#S FTaE]
FriaEdt (#) 0 25 0.00] JbRE{S#S FTaE]
RSB/ N R (B) 0 48 0.00] JERE{S#S FTaE]
MR RGN R () 0 47 0.00] JbEE{S#S FTaE]
MR 3SBERE () 0 13 0.00] JbRE{S#S FTaE]
JIIE B /R (%R) 3 171 1.75| JEBE{E#K £
V) 5 99 5.05] JbRE{S#S E5
F R/ X (%) 0 52 0.00] FtEEEH =¥
EENZ(F) 0 12 0.00] JEEE{S#S E5
MAES#HE (BR) 5 198 2.53| JbRE{E#R R
A/ N R (BR) 2 64 3.13| JLRE{E#S EF
FAB/ R (¥k) 1 51 1.96| JEBE{S#K E5
{Er 38 (%) 0 41 0.00] JbRE{S#S EH
BAT=ITR 8 (FR) 0 28 0.00[ JLRE{SiHs EF
BB (%) 0 11 0.00] JbEE{S#S EH
) BBETA=YIR 0 6 0.00] JERE{S#S E5
k7 )L RESK (1) 0 7 0.00] JbRE{S#S E5
FBRm (BEAF) 0 10 0.00[ JLRE{SiHs EF
= W Hh 5 #58 (Bk) 22 172 12.79] JbpE{E#E =
ks EESkE () 23 90 25.56| JEREIS#E =
SR EBE S (BR) 0 40 0.00] JbRE{S#S =
EERE () 0 6 0.00] JEEE{S#S =i
=L gk g/ N R () 0 6 0.00] JbRE{S#S =
JEFESKE (BR) 60 167 35.93] JLRE{E#S Al
/J\M:/\x(#ak) 1 12 8.33| JLRE{E#S Al
BEE B 38 (%) 1 9 11.11] JeRE{E#E Al
BEZ PR /\X (1R) 12 50 24.00 JLRE{E#S Al
-I:J%/\X(HE) 4 30 13.33] JbREIE#E Al

MERR/NR () 1 26 3.85 JLRE{E#S Al
BEZFRER/ N R (1R) 0 30 0.00[ JLRE{SiHs Al
inE B2/ R (#k) 7 68 10.29] JLRE{S#E Al
LR P RANZR () 19 69 27.54| JLfE{E# P




EERENRBEED/VARATYTNRRAEAKR

TR18E3A31HIRAE
B % 4 % G 5
gz | CAZPA| REDR ) RAEE ) sus | mmxe

B8 BE 25 BRI B 96 (FE) 4 33 12.12] JbRESik Aalll
[ELTD/ AR (k) 7 110 6.36] JtEE{Eis alll
| tEEEEHBE 214 2,618 8.17

BERIBRER 854 1,482 57.62] PBH& B
BH2/N\R 366 911 4018 PBHE E3
REBE/NR 306 456 67.11 SES Ed
mE/NAR 45 183 2459 EHE HER
HE/NAFE 37 85 4353 PFHE HER
RI/NAhR 12 76 15.79] BEIE R
mRENRNEH 9 11 81.82] REi& E5
EEIRA 175 372 4704 PBHE E
FAE—/\R 8 26 3077, EHE R
E R E X 124 840 1476 FHE i
INHE/NR 247 461 5358 PBHE ES0
FER1T/AR 103 708 1455  FAE HR
FHERE/NR 30 71 4225 PFHE R
A INR 32 50 64.00( PBHE R
BRNAATEURTIL 145 285 50.88] EHE HER
SLIN/NR 85 227 3744 FEHE HER
TEEREE/\A 115 183 62.84 PHE BIR
ZEEINR 57 125 4560 PBHE E3
J\XHT 2 10 20.00 EHE R
[ZENR 0 30 000 PFHE E%
ERZTERE 0 332 000 PFHE R
BIET/NR 0 24 000 PBHE R
INBEL TR 0 12 0.00 PBHE R
T AINRIL 0 4 000 PFHE R
MNHEFEEER/NR 0 24 000 PBH®E R
HIYBEEHERAE 14 21 66.67] EHE R
TIAF7—)LARBEE 8 458 1.75| B® R
AXEREEHE 0 17 000 PFHE R
==& 0 5 000 PFHE R
HarS ot 0 11 000 PBHE®E R
FEHASNCEHE 0 8 000 PBH®E R
CIAT—ILINRTYY 0 6 000 PBHE R
IJOIHATLR 0 15 000 PBH®E R
BETRER 330 939 35.14[ PBHE #HE]|
HE/IFPRRKE 205 1,862 1101 FEH=E =)
JIGEE RERE/NX 97 299 3244 PBHE #HE
FEEZIL/ANR 13 135 9.63] PBHE #HE
I/ EE 21 203 10.34] EIE #HE
JI & 3 E B 112 328 34.15( PBHE #HE]
HEKE 29 204 1422 B #HE]|
HMEEHER/NR 0 40 000 PBHE #HE
SI/ENR 0 4 000 PBHE®E #HE
ZEAFHBER/NR 0 16 000 PBHE #HE
HEEMRR/ANR 0 14 000 PBHE #HE
ERET)—2 R 0 10 0.00 PBHE #wE]l|
ETEHME/NR 0 34 000 PBHE #HE
BERS/NX 1 7 1429 B #HE
BEERA/NR 1 9 11.11]  E=E FEETIM
/R 4 77 519 BEi® FEEI
RS AT /AR 3 16 18.75 PBHE FEEI
BERMZAT /AR 2 14 1429  PBHE® FE I
N 4 7 57.14( PBHE #HE]
P S=EIES 0 6 000 PBHE #HE]|
AP E 148 302 49.01 ESED BE




EERENRBEED/VARATYTNRRAEAKR

FTRUI8FIA3IBIRE
T % 4 % C 3=
gz | CAZPA| REDR ) RAEE ) sus | mmxe
TR/ A 268 835 3210 P& JEES
JIMEER S EBE 9 82 10.98] FEAE BE
FGIEEEEIES 34 246 13.82] FEAE BE
BEIEYL/\R 8 12 66.67 EEEL 5E
EE+EXRE 12 73 16.44] FAE BE
A—b—ER 7 8 8750 R BE
TA RN KB 15 15 100.00f PRHE BE
fREEXE 10 15 66.67] PBIE BE
ficied=EIES 0 4 000 PHE BE
FHRE S/ VA 0 30 000 PHE BE
L EA=EIES 1 5 2000 PBE BE
RBEITEBE 11 65 16.92] FAE BE
FEAEEE /R 0 3 0.00 EEES 5E
DN BRA—X 16 16 100.00] PRHE BE
HNEBBE 15 17 88.24] PEiE BE
A= JLINR 0 16 000 PH=®\ BE
SATINR 0 10 000 PRHE BE
HAGR/NZX 6 72 8.33] PBH=® HE
_E{EEE 8 17 4706] PBH9= BE
SRRt 18 116 1552 FEAE HE
BHE/NX 14 57 2456] PBHE HE
BEEDR/NR 3 37 8.11 BES HE
RXERD— 0 7 000 Bi= HE
TR e B/ \A 0 25 000 PHE HE
FEhR/INA 20 98 2041] B8E FIE
RR/NA 223 790 28.23] PEHE FE=
FES=EIES 33 59 55.93] RBHE= Fi=
BIENR 19 69 2754 PBAE FE=
FTEXRE 2 160 1.25| Bi%® FiE=
INEEE 31 227 1366 FHE F=
etEFT /N R 24 92 26.09( PBHE FE
BEEFHRERB/ANR 11 45 24.44(  PBHE FE
WEHRBR/NA 27 89 3034 PEiE FE=
FH=EIESS 0 5 000 PH= F=
B/ N 2 9 2222 BH= Fi=
FERRENR 20 60 33.33] PEHE FE=
HERE 0 98 000 PH=E FE=
KPEBF/NR 0 7 000 PH=E FE=
fEILEER/\R 0 17 0.00] REi=® Fi=
BEJIIHER/\R 0 25 000 PH=E Fi=
5HIELAR—/\R 4 46 8.70| RH= FiE
B5IE5 =2 R 0 36 000 PH=E Fi=
AR ZE AR E 0 27 000 Bi= FE=
5(ETTA4/\R 0 30 0.00] REi=E FiE
S R 0 3 000 Bi= FE=
RRERAAMTAXEAE 23 98 23471 BAE FE=
FTEBERE 19 54 35.19] P& Fi=
ERE 13 42 3095 PBHE FiE=
A+ EBEgkE 0 16 000 PRH=®E FE=
[ ih 3 @ 10 16 6250 PBi=® FiE
5(XT75T—/\R 0 38 0.00] REi=& FiE
A S DI NAY 8 27 2963 PBEiE FiE
X BEEBE 0 9 000 Bi= FE=
FE—HAF 0 10 000 PBiE Fi=
BHHR/NARS—XF 75 125 60.00] PEiE FE=
FEXRZIV— 0 9 000 PBiE Fi=
EEXIIE] 57 412 13.83] PBH= R




EERENRBEED/VARATYTNRRAEAKR

TR18E3A31HIRAE
= Py * B 373
wEs | CALPR| BERR SR sus | mwxs
XFER BEEE 4 13 30.77] H= 35
RIP I B 3 279 1.08] PBH= R
WA —bk 0 24 0.00] BHE® 351
BSRER S\ R 0 17 000 PH=®\ RIR
S E AV 0 13 000 PHE TRk
HYEHZEY—EX 1 157 0.64] BEi=® 3
B8/ N—T L/ R 0 18 000 PBEiE I
BT —2 R 1 52 192] BEE R
EEXEEIES 9 277 325 BHE HA
RERE 5 98 5100 PBHE®E HA
BERAAVIL/AAR 0 15 000 PH=E HA
HYXRE 0 3 000 PH=E HA
E VAV A=b.7 0 19 0.00 EEES AR
LEPRAE 0 8 0.00] REi=E 5K
BEHERIAAY— 0 8 000 Bi= HA
=V JAV. 11 85 1294 PBHE [ITED
IETES3t 9 120 7500 PFHE ITED
ELAT 4 46 870 PH=® TED
m7IVIAT 0 6 000 PHE ITED
WA a—F 4 19 2105 PBiE TED
ET2FMEN 0 16 000 PEiE IED
EESEEHIEHS 4,871 17,979 27.09

Z 5%\ (¥k) 96 649 1479 dEp g
L2EETXER 297 1025 28.98[ rhER T
EET3EICD) 25 102 2451  ohEp =50
HMZEES HR) 5 89 562 hER =
ZHESEL N () 10 19 52.63| &R Z 0
2R/ N A (¥R) 17 65 26.15[  hER =
ZEEHIEE () 0 21 0.00] dEp AN
SIAT7—IILEE/NR () 23 139 16.55 &R =50
HELKAE () 0 16 0.00[ FhER =
LFTOCH RS AUGE) 123 536 2295 hER 5%
=N #RE () 118 402 29.35 TR A 0]
= T2 FRE/ N R(HR) 24 89 26.97] A A%
EL2ITANRER) 36 96 37.50] &R # [i]
BBIEE/NR 6 74 8.11 th &R B4
R)AZEZWLEE/NR 20 54 37.04 hER L da
(BR)BEFEERE/NR 0 24 0.00[ &R a0
B FZEE/NR 1 14 714 & B4
MRBEFEREZEBF/NR 4 16 25.00] &R 5
FUFENRY—E X(Fk) 0 11 0.00] &R 5%
RF) & (FR) 0 6 0.00[ rhER % [if]
FE R ERR) 23 106 21.70] &R £ il
FE 5516 5 B E (¥K) 10 35 2857  hER 5% [if]
FETH/N\XKXESH 0 13 0.00[ FhER 5% [if]
=FXEM 17 677 2.51 &8 =

=XRFPFREER AR 0 5 0.00[ rhER =

=X mic3ER 0 11 0.00 HER =

=—ERTEHE ) 0 2 0.00[ rhER =

= I $% 38 (¥k) 5 16 31.25| &R =

J\R/ANZR (¥k) 0 13 0.00[ FhER =

R/ N\ A=t 32 159 20.13] chER (=Fia
BHEER 9 64 1406 B 2
KiK.k 0 2 0.00[ FhER i=Fia
FHARDTAT—IL/NXH 0 7 0.00[ &R FE
Ik B S EHESERK 52 357 1457  $Ep I BB
BIEFER 0 80 0.00 HER I BB




EFENRBEED/ARATIYTNRAEBEARR
TR18E3A31HIRAE
* B 3
BEEL TR BAEE ) sue | EmxR
L E B3 @ 17 11.76]  HEB Iz B2
EMRESEHER 79 0.00] rER I B
B E/NRAIZ1 =T« 5 0.00] hER I B
EFI—RL—>3 W 11 0.00[ dh#p IRy BB
thEf @ e et 5,106 18.70
TRERTH 32 38 761 4652] EEE RAD
AR/ AR () 108 3.70] % AR
R/ \R (#k) 610 17.05] r&E AR
R BREE AR 3@ (BE) 77 2.60] FZ AR
R E (BR) 46 15.22|  mE AR
mRE7z0—54> (&) 2 0.00 ik AR
F&EERE () 39 7.69] AR
mriJi/-rw\x(:Fak) 12 0.00] EZE AR
RHRFE/\A (FE) 55 1091  raE AR
)Y HHh/ R 22 50.00( Tk AR
FLE=—EH ) 8 0.00[ B
VLT 858 W) 180 18.33] HE
STEA R 43 2558 i HE
T £ 5 rE 3 E K 98 714 % HE
HE/ N B 6 0.00 HE
HE R AR 14 0.00[ arZe HE
KR 3 E B 890 3157 iaE N
B 22 2 A 71 0.00[ e N
SHHERE 153 20.92[ mEE N
BB oA ) INAEEE 8 0.00[ TE N
EEANAR 450 1044 g N
YR 936 1453 N
BR T4/ A 0 18 0.00[ e N
H A @ 0 32 0.00] mZ N
FIBER L/ N R 0 1 0.00] mZ N
SN2 3 347 951 mE N
£ 5 S E®K 0 35 0.00] mZ N
K ZE A3 B 0 106 0.00] mZ N
IR S &R/ N R 0 7 0.00 e N
pNVBEL E e 0 4 0.00] mZ N
BE AT I\ AR 3 87 3.45( mEE N
NG 0 19 0.00] ik PN
FEHASIAT—ILIARE 39 258 15.12] 2 N
HARZ2I —H 1 4 25.00[ mEE N
(i) ] PR B8 55 K BR 0 3 0.00[ e N
JLEE S/ N 6 8 75.00[ e N
FRHE/ N R 108 695 15.54] g EE
é{E/\Z(ﬁ) 3 140 214 g EE
RIS A 0 99 0.00] TZ EE
IEEREER 23 132 1742 & EE
8%/ N2 H 0 6 0.00] & £E
AT 136 543 25.05| & £E
B 97 131 74.05] Tk EE
1B 49 71 69.01] i EE
FHm 60 88 68.18] gk EE
BRATH 27 57 4737 A% EE
M= A E/ R 3 7 4286 rZE EE
75 B EE R S5 E 2 6 33.33] ik EE
MEIT—/\A0 0 7 0.00 & EE
4:531@‘/—//\7\(&) 2 19 10.53] ik &
26 13 3 8 T BB () 2 20 10.00[ i E[E
B TR e 2 12 16.67] T E[E




EERENRBEED/VARATYTNRRAEAKR

TR18E3A31HIRAE
= X N X B S3R
gz | CAZPA| REDR ) RAEE ) sus | mmxe
NP IR/ N A 0 44 000  FZ BB
RS —2 R 0 11 0.00] ik EE
AIEEBI N 3 11 27.271] R EE
Rt e S ERE 12 189 6.35| amEE EE
e 3B E iR B 1 5 20.00( EE
AL EB I NRBR K 0 6 0.00] ik EE
[EEE TR TRV 0 11 0.00] FZ EE
HEY ADANRE 6 38 15.79 & FFe L
FE IR 22 107 2056  JrEE IR
ML NZRIE® 2 36 556 T IR
K/ 1 13 7.69] i IR
A HEER 1 10 10.00 FE FFeLL
bt/ N X® 2 18 1111 & I
EEMHEBNER 0 20 0.00] & FFrLL
BRSE/ N R 3 44 6.82[ e IR
REFF 3B 6 45 13.33( & FFe L
FSAHIER 0 3 0.00[ e FFeLL
e AR 4 18 22.22( 03r
ZBEXE (%) 36 632 570 & =B
I X —/\R (k) 12 45 2667 rEe =B
EHAEr—J L EBER 0 4 0.00 ik =B
& aT 1,745 8,861 19.69

LB EH® 33 481 6.86] & LE
IAF - T4—HRLER 0 29 0.00] H[E LE
LE/NAH 0 218 0.00] H[E LE
NSRS 0 206 0.00] H[E LE
ECNVAC 0 108 0.00] H[E LE
hE/ N 0 164 0.00] H[E LS
EREKER 0 67 000 H[E LS
il 3 & 2 63 317l  FE LE
E D SiE &tk 1 23 435 E LE
AP0/ \ B R 0 17 0.00] H[E LE
BEIE/NAM 1 5 20.000 ®H[E L5
EhmXaR 10 170 588 f[E LE
ZEHhXER 2 19 1053  FE LE
EETRER 6 46 1304 L&
FESIAT7—IL/ AR 7 218 3.21 i E N
SLEHELESER 0 3 0.00] H[E LE
HBRREX®B 1 7 1429  E LE
LR EH 0 19 0.00] H[E LE
F—29—H 1 31 3231 FE IN=)
BTIoEILXYT 0 6 0.00] H[E L8
H/AEBEK 12 153 7.84  FE [SEN
HAR3 B 14 164 854 E [SEN
H/ #5292 —0% 0 2 0.00] H[E [SEN
— B/ N R (¥k) 6 140 429 [E B
AR AR 10 114 877l E =Lic)
WIThKaR 22 54 40.74] & [E =Lic)
[#033T — X 338 (Bk) 0 6 000 H[E EiR
HE— R EER) 0 5 000 HF[E B
I I5 &7 S () 0 1 000 HF[E =Lic)
fiEdt/ N2 (%) 0 54 0.00] H[E fif] LY
TEHEERER) 5 85 588 f[E fif] LY
HEFFEMRA S 1 84 1.19] &E fif] LY
il i 1E B () 0 1 0.00] H[E fif] LI
] LI 38 () 0 1 0.00] H[E fiE] L
i L2 9S—(#%) 0 1 0.00] H[E fif] LI




EERENRBEED/VARATYTNRRAEAKR

TR18E3A31HIRAE
= X N X B S3R
Fgrg | OATEH| BEEH | BAME | seo | Enxm
(&) (&) (%) . i
th§%/\ A (kR) 0 128 0.00 ®FE L
FHEEHEMGRR) 0 60 000 H[E fif] LY
it LU B S ELE (BR) 4 126 317l  $E fif] LY
e/ N A (¥E) 10 211 474 ®&E L
[ & 3K B 0k 35 281 12.46] ®E [IT=
YT 3 EH) 27 250 10.80] o H =)
e ARk E R 12 24 50.000 E IT]=]
TIL—54AL B 0 2 000 FE Ti=]
FEHRER 8 72 11.11 fhE =)
EEHRER 4 58 6.90 fE [T
P E ST 234 3,977 5.88
EENAM 27 150 18.00] DU EE
EE IR AR 0 3 0.00 PHE ‘e
PO [E 3 308 3 21 14.29] PMUE ‘e
EEH 10 72 13.89] PUE ‘e
EFgth 0 23 000 ME ®mE
INABETH 3 15 20.00, PMOE ®mE
ZETANRR 16 79 20.25( MOE ZE)I
ELSEEHRK 3 38 7.89] MHE ZEI
PNIEEET: 7 23 3043 MWE ZEI
ING BN 11 27 4074 ME E)
I ESEIRNAT) 0 31 0.00 PHE ZEI
BrEBXBEHEKR 0 2 0.00 PHE ZEI
SIIZT LA 0 11 0.00 PHE F
FFEER 53 170 31.18] MHE iR
HE N EEHE 0 107 0.00] PUE EhE
FHEBEIEK 0 117 0.00] PUE iR
th B S 0 4 0.00] PUE iR
FEFHEETF/NRB 3 34 8.82| M[E EhE
LEHH/ N XEHEB 0 6 0.00] PHE iR
HPE NE AR 0 29 0.00] PHE iR
SR A 13 123 1057  PHE S A0
TEES B 7 76 921 ME = A
BRI EEE 2 3 66.67] POE S A0
= &0 76 3K R ) 1 19 526 POE S A0
EsEdLER LB EIE 1 6 16.67] PHE S A0
=SSR ER 0 7 0.00] PHE S A0
e 5 17 2941 mWmE =40
TEBN LY 2B 2 44 455 POE =40
B = FNERATER 0 6 0.00] PHE S A0
JREE/ YR 0 103 0.00 PUE =50
O EES fmaT 167 1,366 12.23
EAMTIER 4 127 3.15] A 2 fif]
S TATNIM SRR 1 101 099 A 12
RINEFT/ SR EER) 0 49 0.00] A &0
A ) 0 40 0.00[ AL 12
EEESZIECED) 4 2,003 0.20[ 12
FAEE/ NN R A BB KGR 0 45 0.00] A 15[
Fafk/ N AKX FE HEE) 0 41 0.00] A 12
78 £ / \ R i 37 (#k) 0 5 0.00[ AL 12
a8k / \ R E (%) 0 97 0.00[ A 12
7%/ \AREHE) 0 49 0.00] AL 12
ik \A Z BTh(&E) 6 39 15.38] AL 12
Fagk/ N\ b i (BE) 2 593 0.34 A 12
a5k =%/ N R (FE) 0 25 0.00 12 E
AL ER S/ N R () 0 7 0.00 12 E
(BR)H KEIS /R 0 10 0.00 12 H




EERENRBEED/VARATYTNRRAEAKR

TR18E3A31HIRAE
= X N X B S3R
Fgrg | OATEH| BEEH | BAME | seo | Enxm
(&) (&) (%) )
RE#0 5 BhEE G 0 200 0.00[ L &E
EETRER 8 61 13.11 FLN &5
HE N 0 56 0.00[ AL &5
FEEk/ N\ R{EE 3 34 8.82] Al &5
EIBRERER 1 362 0.28] A K&
EGEEER 1 564 0.18[ A K&
FHAE B B 0 283 0.00[ A K&
EHERTEE 3 128 234 A RIF
EREKER 6 64 9.38] il K&
FEEEER 0 38 0.00[ L K&
= I 32 3@ ) 0 28 0.00[ L K&
it B 3@ ) 0 43 0.00[ L K&
£ HEEER) 0 8 0.00[ AL K&
WETh 0 3 0.00]  Fu K&
BEEE 0 2 0.00]  Fui K&
LAV ER 0 33 0.00[ K&
BEBEE 0 6 0.00[ L K&
RIBE YN R (BR) 0 6 0.00[ AL K&
KD/ (BR) 0 308 0.00]  Fu N
PrHE A (BR) 0 19 0.00] A X5
REFRE (BR) 0 10 0.00] A N
E1E3 @ (BR) 0 16 0.00 A PN
K& (BR) 0 141 0.00] A N
EESERVAC:D) 0 22 0.00]  Fui N
KAZILER/ R (3F) 0 57 0.00 PN
BB/ NNR () 0 9 0.00]  Fui N
BDHNA ) 0 89 0.00]  Fui N
HHE/\X (¥) 0 30 0.00 A PN
RINES /R (BE) 17 314 541 L HEEAR
ER/NAGER) 0 201 000 Au IES
AT ER 45 187 24.06(  Fu BB
BEAR/NR (¥F) 3 85 3.53] Juii BEAR
EXRERFER 11 109 10.09]  Fuil HEEAR
(A)MER 8 0 6 0.00]  Fui HEEAR
= I3 8 (k) 24 434 553  Jul =I5
= B EhE (%) 0 10 0.00] AL = I
BREXE 0 239 0.00[ L BRE
KEXRBERVET—H 0 103 0.00] A BRE
EAAMNRRYET—H 0 37 0.00[ L BRE
EFE-EAEXA 0 39 0.00[ L BRE
FAERE 0 244 0.00[ L BRE
MHE/NR 0 187 0.00[ L BRE
BRET 29 200 1450 LW BRE
TEXAE 0 58 0.00[ L BRE
ENDEXE 0 26 0.00[ L BRE
Bz EREEE 0 11 0.00] A BRE
Sk BER/AR B EH 0 6 0.00] A BRE
PEEE) T S 0 1 0.00] A BRE
R0 0 9 0.00 A ER
NINEG@ BT 168 8,357 2.01
Gisk N\ =4t 0 270 0.00] b SR
B Nt 0 181 0.00] i i
MBS FT 0 136 0.00[ R piE
BB/ \ Atk St 0 96 0.00[ R pfE
SESHN\TFRIARETL— 0 4 0.00[ hfR piE
BEHIRENASESH 0 9 0.00[ HfE piE
SESHHEF/NR 0 4 0.00] HfE ki




EERENRBEED/VARATYTNRRAEAKR

ER18E3IA31BIRE
g % & % g B M=ol S EA
gz | CAZPA| REDR ) RAEE ) sus | mmxe
EEE e 0 20 000 FiE e
e VIE A 0 7 o0 | e
hiE L ER 0 2 0.00] hiE i
R EE R T 0 729 0.00




